ouisel= kx[t] +yx [t] +mx"[t] = el t¥

in215]= ClearAll[m, x, ¥, k, driven, p, w, t_]
driven = m x''[t] + ¥ x'[t] + kx[t] == ET¢*
solution = DSolve[{driven, x'[0] == 0, x[0] == 0}, x[t], t]
f[x_] =x[t] /. solution[[1]]

oupiel kx[t] +yx [t] +mx"[t] = el t¥

t [777 ~4 km+y? J t [7)(+’\/ ~4 km+y? ] t (q@\/ ~4 km+y? ] t [yf\/ “4kmiy? +2imw

+

out[217]= {{x[t} > -|2m |e 2m Y-e 2m Y+ e Zm 2m Y -

t[ ¥ \/ 4 kmsy? ] t[yw\/ 4kmiy? +2imw t |-y -4 kmiy? ]
e 2m - 2m Y -e 2m 1l74km+y2 _
t [774/ —4 kmiy? t (7%\/74 kmiy? ] t [y7\/74 kmey? 2imw

e 2m \V-4km+y? +e Zm * Zm A -4km+y? o+

v\ -4 kmsy? ] t[ vy —4 kmiy? ]

t[ y\/ 4kmm_/2] t[yw\/ 4 kmiy? wZJimA/] t

e 2m " 2m \-4km+y? +21ie 2m mw-21ie 2m mw +

t [7)4\/ 4 km+y? ] t [yf\/ 4 kmiy? 42 ﬂmu] t ‘777\/ ~4 kmiy? ] t (w\/ “4kmiy? +2imw

2ie 2m " 2m mw-21ie 2m * 2m mow /

[\/—4km+7{2 (—y+\/—4km+y2 —ijw) Y+ -4km+y? +2imuw }}

t [77(4/ ~4 kmiy? ] t [qm} ~4 kmy? ] t [7%\/ 4 km+y? ] t [7{7\/ “4km+y? +2imw
out218l= — |2m |e 2m Y -e 2m Y +e Zn * 2n Y -

t [»p\/d{kmﬂ(z t y+\/74 kmiy? +2imw
e 2n ! 2m Y-e 2n \-4km+y? -

t [—w\/ ~4 km+y? ) t ‘fy+\/74 k m+y? ] t yf\/—tlkm-yz +2imw
€ = A/-4km+y? +e in : Zn \V-4kmey? o+

t [717\/74km+y2 t y+\/74 kmiy? +2imw t [7741 —4 km+y? ] t(—y+\/ 4 km+y? ]

e 2m ! 2m \V-4km+y? +21ie 2m mw-21ie 2m mw +

t {7%\/ ~4 km+y? ] t [77\/74 kmiy? +2 J‘me) t [7:(7\/ 4 km+y? ] t [7+\/ “4km+y? +2imw

21e 2m * 2m mw-21ie 2m * 2m mw /

(\/—4km+y2 (—7{+\/—4km+7(2 “2imw| |[y+\-4km+y? +2imuw
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out[163]= 1

Out[165]= JT
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